L

WNE7 e ¥

USN « )
§ 1\*:55
. :}\cmw}
B
~ Internal Assessment Test Il - December 2023 -
Mathematics - 1 for EEE Stream . Sub Code: | BMATEI101 ,
Daic | 01122023 | Durstion: | 0mins | Max Marks: | 50 " Sem/Sec: | 1/MN,OP(C-CYCLE) | OFf
er uestions MARKS f—_‘_J | RBT
Find the dominant cigenvalue and the corresponding eigenvector of the matrix [08] (C€OS L5
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lnvemgnlc”the values of A and p such that the following system may have (i) unique |
solution, (ii) infinitely many solutions and (iii) no solution. ' '_

X+Yy+z=6
x+2y+3z=10
x+2y+Az=p




4 Solve using Gauss Jordan Method:
x+2y+z=3
2x+3y+3z=10
3x-y+2z=13
S Solve using Gauss Seide! method (perform only 4 iterations): 107
20x+y—2z=17
3x +20y-z=—18

2x — 3y +20z=25 | b

O Find the extreme values of the ﬁmc;iaon : o7} €02 L
ry) = xX+y —-3x-12y + 20
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